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PHYSICAL EDUCATION
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Greater the momentum of an object :

(A) The greater the distance it will travel

(B) The lesser it will react

(C) The lesser distance it will travel

(D) The higher it will go

Which of the following training systems has been considered best for body adaptation ?
(A) Interval training (B) High altitude training

(C) Circuit training (D) Fartlek training

William James considered Psychology as the :

(A) “ science of behaviour and mental processes”

(B) “scientific study of behaviour”

(C) “science of mental life”

(D) “scientific study of human and animal behaviour”

In sports context, aggression must be defined as :

(A) Violence (B) Assertive play
(C) Out-of-control situation (D) Hostility

What is the % of energy needed in going downstairs in comparison to the energy needed
for going upstairs ?
(A) 25% (B) 33% (C) 40% (D) 50%

What is an athletic heart ?
(A) It is a pathological condition

(B) It is a hypotrophic condition

(C) It is an abnormal condition of the heart

(D) It is a normal condition that follows the biological law of use

The muscle of a trained athlete can burn fat at upto times the rate this
occurs in an untrained muscle.

(A) three (B) four (C) five (D) six
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10.

11.

12.

13.

14.

Success and failure, in learning and activities are related to the :

(A) strength of the urge to achieve

(B) intention to progressively improve performance
(C) level of aspiration
(D) experience of satisfaction and annoyance

According to sports statistics, more and more records are being re-written in swimming
rather than in track and field events because :

(A) swimmers engage too hard in weight training

(B) athletes are being motivated too work hard by the team management
(C) greater use of principles of biomechanics is being made in the training
(D) Dbetter swimming facilities are being made available almost everywhere

Mans social inheritance is primarily reflected in :
(A) religious rites and rituals (B) education and ethics

(C) social institutions and organizations (D) traditions and customs
The Latissimus Dorsi is powerfully involved in :
(A) Volleyball and Basketball (B) Football and Hockey

(C) Swimming and Rowing (D) Gymnastics and Dance

The external axis (axis of rotation) lying outside the physical limits of the body is reflected

(A) a gymnast swinging on a horizontal bar
(B) a discus thrower swinging the discus
(C) a tennis player hitting a side arm stroke
(D) a swimmer cruising through water

The most difficult task in sports management is the management of :

(A) personnel (B) play fields (C) equipments (D) materials

A good demonstration is designed to help :

(A) the teacher to teach skills perfectly

(B) enable pupils to understand the skill well
(C) speed up perfection in a skill
(D) understand biomechanics of the skill
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15.

16.

17.

18.

19.

20.

21.

22.

All playing areas in an indoor sport complex must be laid in :
(A) south-west direction (B) east-west direction

(C) north-south direction (D) any direction

Which of the following playing surfaces is easy to maintain ?

(A) concrete (B) natural (C) turfed (D) synthetic

The normal curve is based on upon the probable occurrence of an event when the
probability depends on :

(A) expert manipulations (B) chance

(C) the number of observations (D) actuality of situation

The most important basis for discarding questions in a test is :
(A) item difficulty (B) item validity

(C) curricular validity (D) index of discrimination

Analysis of co-variance represents an extension of analysis variance to allow for the
correlation between :

(A) two group scores (B) several group scores

(C) initial and final scores (D) two different variables

Historical research is also known as :
(A) demographic research (B) event study

(C) retrospective observation (D) biographic research

In order to prevent worsening of the condition of the casualty, the first aider must
immediately :

(A) dress the wound(s) (B) handle the casualty carefully

(C) give consolation to the casualty (D) protect the casualty from heat and cold

Biofeedback is a technique by the use of which an individual learns to relax by
controlling :

(A) involuntary body functions such as heart rate

(B) voluntary muscles involved in exercise
(C) inputs of sensory impulses
(D) motor activities of the limbs
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23.

24.

25.

26.

The real test of the laboratory experiment lies in its :
(A) predictability (B) instrumentality
(C) replicability (D) controllability

Match Statement-I with Statement-II and select the correct answer using the code
given below :

Statement-1

(i)  The rate of change of Momentum is directly proportional to the applied force and
it is in the same direction in which force is applied.

Statement-II1

(i) When an object is acted upon by a constant force, its resulting acceleration is
directly proportional to the force and inversely proportional to its mass.

Code :

(A) (i) is correct (B) (i) is correct

(C) (i) and (ii) are correct (D) (i) and (ii) are false

(i) Playing area of Golf is known as ‘Course’.

(i) Playing area of Hockey is known as ‘Ground’.

(iii) Playing area of Squash is known as ‘Court’.

(iv) Playing area of Shot-put is known as “Track’.

Code :

(A) (i) and (ii) are false (B) (i), (ii) and (iii) are correct
(C) (i), (iii) and (iv) are correct (D) (), (ii), (iii) and (iv) are false

Match List-I with List-II and select the correct answer using code given below :

List-1 List-11
(@) Cell Membrane (i)  Excretory function
(b) Mitochondria (i) Absorbs and excretes the molecules once
carried out
(c) Lysosomes (iii) Contain enzymes
(d) Vacules (iv) Break down large molecules within the
cell
Code :
(@ () (o (@
(A) @) (v) @) ()
(B) G) (v) (@) (D)
(© G) () @) @)
(D) @) @) @ Gv)
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27.

28.

29.

Match List-I with List-II and select the correct answer using code given below :

List-11

Heart Muscles

Human respiratory tract
Striped Muscles

Smooth Muscles

Match List-I with List-II and select the correct answer using code given below :

List-I1

Blood Vessels
Removing Waste
Neuron

Bronchi and Lungs

Match List-I with List-II and select the correct answer using code given below :

List-1
(a) Voluntary (i)
(b) Involuntary (if)
(c) Cardiac (iid)
(d) Cilia (iv)
Code :

(@ () (o (@)
(A) @) @Gv) @ (D)
(B) Gv) () @) ()
© O @ @) @)
(D) G) (@) @ )

List-1
(a) Respiratory System (i)
(b) Circulatory System (ii)
(c) Excretory System (iid)
(d) Nervous System (iv)
Code

(@ (b)) ( (@
(A) Gv) @ (D) (i)
B) (@) @) @) (v
© Gv) @ @) ()
(D) @) (@) (v) (D)

List-1
(a) Growth @)
(b) Development (if)
() Maturation (iid)
(d) Learning (iv)
Code :

(@ (b) ( @
(A) @) @) @0 G)
(B) @) @ 3D @)
(© Gv) (@) @ )
(D) @) @ G Gv)
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List-11

Progressive change towards greater
maturity

Qualitative change after maturity
Increase in size and shape
Modification in behaviour



27.  gEl-1 3R get-11 1 5 fgu T Fre F vera ¥ e o 9d 3w S

gai-1

(i)
(1)
(i)
(iv)

(d)

(i)

(1)

(iv)

(iv)

ger-11

7S & qiEuEr
YHET 3aTd e
YEiferd eyt

e A

28. Tell-1 3R g&I-11 1 9= T T e it g 4 fHamst oik 9@ s® IR ¢

gei-1
AT JUTTeAt

)
b) uRamEl gore

(i)
(1)
(i)
(iv)

(d)

(i)

(iv)

(iif)

(ii)

get-11

TH darfet
STafTel ! ameR R
T ISR

T 3R BHS

29. TeAl-1 SR g&I-11 1 7= T T e it Feroa 4 it ok 9@ ™ I ¢

gei-1
@ dfs

alc=

¥

So=z2

D —4708

(1)
(i)
(i)
(iv)
(d)
(iv)
(iv)
(i)
(iv)
11

get-11

Toh 3oF IRUFAl & IR 9gd g Hiv-eik
HREIGIEEIC
qRueadr M W NS IRe

M9 3R R H gfs

RN H dgeTrdl

P.T.O.



30. Match List-I with List-II and select the correct answer using code given below :

List-1 List-11
(a) Endomorph (i) Poor digestive system (Less energy)
(b) Mesomorph (i) Theyhave better digestive system (More energy)
() Ectomorph (i) Known as athelitic type
(d) Micromorph (iv) Take up the activities (Heavy Weight)
Code
(@ ((b) (o (@
(A) @ @) @ (1)
(B) (@) @) (@v) @
© @ Gv) @) (i)
(D) (@) @) (v) (i)
31. Match List-I with List-II and select the correct answer using code given below :
List-1 List-11
(a) Concentration (i)  Feeling together
(b) Mental Imagery (i) Consciousness
(c) Group Dynamics (iii) Rehearsal of competition
(d) Attitude (iv) Predict behaviour
Code :
(@ (b) () (@
@A) () O @ )
® (v O G )
© () @) @ @)
O) () @) @) @)

32. Match List-I with List-II and select the correct answer using code given below :
List-1 List-11

(a) Vedic period (i) 3250 BC - 2500 BC
(b)  Early Hindu period (i) 600 BC - 320 AD
(¢) Indus valley civilization period  (iii) 1000 AD - 1757 AD
(d) Medieval period (iv) 2500 BC - 600 BC
Code :

(@ () (o (@)
(A) Gv) (@) @) (D)
(B) G) (v) (@) (D)
(© Gv) (@) () ()
(D) @) (v) (D) @)

D —4708 12



30. gel-1 3R geit-11 %! = feu T wie &t werar ¥ faas o R a9 sw i

get-11

RENRIESKERGCT T

TR T T e T (31ferk St
T YhR I

551 el I Y T (9 S )

Teft-1 3R geit-11 6 = feu T Fre ot gerd ¥ fremse ok w@ sw 3 ¢

get-11
T S
=l

Yfefar-garama
Ifgd =a8r

Teft-1 R geft-11 1 = fSu T ®ie =t Jerd § fHasy ok w& s S ¢

geit-1
(a) TICTRR ()
(b) HERH (i)
(c) FMHIA (iid)
(d) HeuEd (iv)
FIE:
(@ B (© @
(A) G @) @ o (0v)
(B) (i) (@) (v) (D)
© @ (v) @) (i)
(D) (i) () (iv) (i)
31.
geit-1
(a) TR (i)
(b) HFAER el (ii)
(c) EHE Tfqefierdn (i)
(d) gfEsh (iv)
FE :
(@ B (© @
(A) @) @@ @) ()
(B) (v) (1) (@) (i)
© G) () @ (0
D) @ @) @@ (@G
32.
gei-1
(a) dfcw wa (i)
(b) IRy feg wred (ii)
(c) THY =1t wan e (i)
(d) & JA A (iv)
FE:
(@ B (© @
(A) (v) () (@) (i)
B) @) (@Gv) @ (i)
Q) (v) () (D) (D)
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33.
List-1
(a) Medial ()
(b) Prone (ii)
(c) Superior (iid)
(d) Anterior (iv)
Code :
(@ (b)) ( (@
A @ 6 @) G
B O @) @ i)
© ) @v) @ (i)
D) O @) @) G
34.
List-1
(a) Muscles that move upper arm (i)
(b) Muscles that move the thigh (ii)
() Muscles that move the head (iii)
(d) Muscles that move the shoulder (iv)
Code :
(@ ® (© @
(A) Gv) (@) @ @)
(B) @) @Gv) @ ()
(© Gv) (@) @) @)
(D) @) (@) @v) ()
35.
List-1
(a) Vitamin B, (i)
(b) Vitamin B, (ii)
(c) Vitamin E (iif)
(d) Vitamin By, (iv)
Code :
(@ () (o (@
(A) @) (D) (@) @)
(B) @) (@v) @) @)
(© @) @Gv) @ ()
(D) Gv) (@) @ (D)
D —4708 14

Match List-I with List-II and select the correct answer using code given below :

List-I1
Face down
Front
Inside

Upper

Match List-I with List-II and select the correct answer using code given below :

List-I1

Splenius capitus
Serratus anterior
Latissmus dorsi

Adductor longus

Match List-I with List-II and select the correct answer using code given below :

List-11
Cyanocobalamine
Thiamine
Riboflavin
Tocopherol
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36. Match List-I with List-II and select the correct answer using code given below :

List-1 List-11
(a) Dislocation (i) Cracked
(b) Fracture (i) Analgesics
(c) Firstaid (iii) Absence of a qualified coach
(d) Injuries (iv) Displacement
Code

(@ () (o (@)
(A) @) @ G (@v)
B) @ @) (v) (i)
© (@v) @) @) (i)
(D) Gv) (@) @) (D)

37. Match List-I with List-II and select the correct answer using code given below :

List-1 List-11
(@) 'V, (i)  Projecting angle
(b) 6 (i) Average velocity
() V. (iii) Projecting velocity
(d) VvV~ (iv) Horizontal velocity
Code

(@ ® () @
(A) @ @) @G (@v)
B) @ @) (@v) ()
(© @) @ (@v) ()
(D) (@) @v) G @

38. Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Insulin is in effective when taken by mouth.

Reason (R) : Intake of insulin is destroyed in the alimentary canal because the Size
of Molecule is too large for intestinal absorption.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true and (R) is false
(D) (A) is false and (R) is true
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39.

40.

41.

42.

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : To prevent the drug abuse, cognitive strategies include education,
coaches communicating their feelings about drug abuse, awareness
of its illness and development of team/squad guidelines for acceptable
behaviour.

Reason (R) : Behavioural strategies do not include acceptable behaviour, drug
testing, goal setting and behavioural contracting.

(A) Both (A) and (R) are correct
(B)  (A) is true but (R) is false

(C) Both (A) and (R) are incorrect
(D) (A) is false and (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Play is behaviour for the purpose of fun and enjoyment with no
utilitarian or abstract goal in Mind.

Reason (R) : Play is not allowing us to use up surplus energy lets us rehearse skills,
and not helping us to reduce anxiety.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : The halm portion of haemoglobin contains iron that binds reversibly
with oxygen.

Reason (R) : Alongwith Oxygen and Carbon-dioxide transport, haemoglobin
functions in blood pressure regulation by ferring nitric oxide
throughout the body.

(A) (A) and (R) are correct

(B) (A) is true and (R) is false
(©) (A) and (R) are incorrect
(D) (A) is false and (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : The Girdles attach the limbs (extremities) to the axial skeleton.
Reason (R) : The Girdles are considered to be part of the axial skeleton.

(A) (A) and (R) are correct

(B) (A) is true and (R) is false
(©) (A) and (R) are incorrect
(D) (A) is false and (R) is true
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39.

40.

41.

42.

I el T8 e (A) T ek (R) § T R =TT Rl

HIAT (A) : Tt Il % Yo shi Ik & fore Famrerss wifaan o forem nfhe &, e
Terelf o goHNOME W STI T Yeohe FR T o WA & fa%g STEehdl ol 31X
i eER & fore 3 / haes & fag 9g-feem Tar &)

deh (R): SAIERIHS WM H THR-ATT R, et Jeredt 1 e, g e
3R HIERIHSE Hep= HfAfad =&l § |

(A) (A) TN (R) THI T2 1 (B) (A) W& T TN (R) Tord & |

(C) (A) T (R) SHI T T (D) (A) 7Ted € T (R) Tl

I fed T /YT (A) TE Ak (R) § TE B =TT DI
T (A) : IS U HALR & Sl AL & TARY & foman < ® &1 30 & SyAifiarn wraedt

3T 329 Ak | T2 2N |

qeh (R): 3hiel gH o1 SAfaRes el SR 3T SIvrd w1 qaisad 78 i ot 3k 7 &
fer=d <l " LA T B HAT B

(A) (A) T (R) I TTerd €1 (B) (A)TH (R) I Tl €1

(C) (A) W&l T a0 (R) 7Terd g | (D) (A) 7o € a1 (R) &l 1

= fed T e (A) TE @k (R) § W& H1 99 Fie
HYT (A) : THFCTSH & TH 9T H TG B & S SIS o T S 9 § ISl ¢ |

qeh (R): SideH 3R FHre--srsiieaRe & UReed & A, sureifed IR | =efew
HTFATZE ! TG Th =19 ! faf-afid e g1

(A) (A) wE (R) T W& € (B) (A) & ¥ dM (R) T B
(C) (A) TN (R) I TTeTd § | (D) (A) 7o € T (R) Tl 1

= fe3 T AT (A) TS ek (R) W TE AT TIT R

HIT (A) : HEA T-U(A(TIAH BRI HI )T H&f bl I Sredt T

qh (R): @ il 3187 Shehlcl I AFT GHAT S 2 |

(A) (A) T (R) 3M W& | (B) (A) W&l T q (R) Tod €|
(C) (A) T (R) I TTord € (D) (A) 7Ted € a1 (R) &l 1
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43.

44.

45.

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : The oxygen debt is the post exercise oxygen consumption above the

basal oxygen consumption level.

Reason (R) : The oxygen debt is the oxygen taken in during recovery over and
above that which would have normally been consumed for the same
period of repaying the energy stores that were used up during exercise.

) (A) and (R) are correct

>

(

(B) (A) and (R) are incorrect
(C) (A)is true and (R) is false
(D) (A) is false and (R) is correct

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Stability of an object is greater when its weight is greater and centre
of gravity is higher.

Reason (R) : Stability of an object is greater when its weight is greater and centre
of gravity is lower.

(A) (A)is true (R) is false

(B) (A) is false (R) is true

(C) (A) and (R) are correct

(D) (A) and (R) are incorrect

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : In Bibliography the author’s name is written as - Surname - First
name - Middle name.

Reason (R) : In Bibliography the author name is written as - First name - Middle
name - Surname.

(A) (A)is true and (R) is false

(B) (A) is false and (R) is true

(©) (A) and (R) are correct

(D) (A) and (R) are incorrect

Read the passage and answer the questions that follow based on your understanding
of the passage :

Physical education programmes are structured in such a way that they teach the
essential unity in the diversities of national life, and games and sports try to inculcate in
them the essential qualities of communal harmony and fellow feelings. Youth festivals
of sports and similar competitions organised throughout the country will go a long
way in harmonising their thought and efforts. Infact, playgrounds are the laboratories
of the society where socially useful actions can be moulded, refined and a human
approach to life can be practised. For building up a new generation of men and women
committed to the process of National and International integration, an appropriate
training and motivation of the individuals is imperative. All this is possible through the
medium of sound programmes of physical education, games and sports which act as a
dynamic charging force - never compromising with the status quo of the traditional
thinking, attitudes and habits. Undoubtedly, sports and games play a vital role in
strengthening national as well as international understanding.
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T fed T U (A) T ek (R) W T 1 TI4 i
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46.

47.

48.

49.

50.

According to the passage, Fostering Integration in the new generation requires :
(A) training men and women

(B) motivating individuals

(C) training and motiving individuals

(D) appropriate training and motivation of individuals

According to the author, National and International understanding is strengthened
through :

(A) Literature (B) Education
(C) Sports and Games (D) Community Programmes

The passage suggests that Youth festival of sports help in :
(A) harmonising thoughts and efforts
(B) bringing youth together
(C) providing a common platform
(D) providing information
Playgrounds are laboratories of society where :
(A) Human Approach to life is developed
B) Actions are moulded
) Actions are refined
D) All the above

The advantages that flow from games and sports for National and International
Integration are :

(A) Inculcating appropriate values (B) Breaking barriers of caste and creed
(C) Bridging cultural gaps (D) All the above

-00o0-
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46.

47.

48.

49.

50.

T TR o STTER TSI 1 Tl < & ferw 78 el =t &
(A) T-RI 1 girero (B) =ATHAI sl IO
(C) =af®HAT ol I IR wfdreror (D) HATHA % ITFH IO R e

TG TV o SREMER TP TS ST=RIS 0 39 §N ¢ 2t ¢
(A) wifeH (B) Teanm
(C) Tl (D) eI e

=8 TS YT § o e Scue HerEd i §
(A) ool iR yarei § SRE@ @ (B) A Sl gl HEAl
(C) = H9 UM KTl (D) H=FT 9&H T

W % HSM FHIS S FANTIIEATS § S8l

(A) SiaA & fau ame gfewm o1 fawm g 7
(B) Tpaneii =it ufafda foman S &

(C) Franeii =1 uftspa e 2

(D) Wb g+t

T IR STRIF T § WA-DHIST §RI Ug aTel oM |

(A) 39gH qAl hl UST HEAT (B) Sfa-= o STeRIEhI dre
(C) HiEhfaeh T1e sl WTAl (D) Wb 9+t
-00o0-
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